The given point lies on the terminal side of an angle 6 in
standard position. Find the values of the six trigonometric
functions of 6.

1. 3.4 2. (—6,6)
3. (""41 —3) 4. (2/ O)
5. (1,-8) 6. (5, -3) € exact values of the five remaining trlgonometrlc
tons of @,
1. (-8,15) 8. (-1,-2) '

tan §'= 2, where sin § > 0 and cos 8 >0

CiSC(9=2,wheresin9>Oandcos@<O

Sin § = —%, where cos 6 > 0

- % , Where sin 6 < 0
.:dwthe exact value of each expression.

iy ec § = V3, where sin 6 < 0 and cos >0
26. tan ~— G

| 'Ow 1 where sin 6 < 0 and cos 6 < 0

\ 28. cot (—45°) t‘3119 = —1, where sin 6 < 0

‘OS 0= -%, where sin 8 > 0

} 30. sec (—150°)
32, sin 300°




